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V- o yoad vecCtor space . W; - a SVJQS’T@CQ of Y  with
i Wi =2, 1-1,2.
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Wim o 1,0 W a0
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Ql . 13 Suppose T is a linear map from F* to F2 such that
null 7 = {(x1,x2,Xx3,X4) € F*: x; = 5x, and x3 = T}

Prove that 7 is surjective.

Prost - wll T=105%, %, J20, %) € FF - o, % € TF S
—.:i‘mni(g)()g,o)) (0)0,3})1)}

> dim (wult T)= 2.

And  dim( rerge T) = diw (F*) = o (null T) = 4-2=2
Sihce m%aTSTFZ with  dw (F*) =2
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£ 3. | 10 Suppose U is a subspace of I with U # V. Suppose S € L(U. W) and
S # 0 (which means that Su # 0 forsomeu € U). Define 7:V — W
by
Ty — Sv iftvel,

0 ifveVand vé¢U.

Prove that 7" is not a linear map on V.
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U s @ 5U\LS"FQCQ = 0§, €0 Contradi+tion >
Bt Tu+Tui= SUF0 , 9o Tlury) =+ Tu+TY
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